5D 2001 The Quadratic Function 2nd August

1. Solve the equation z% + 7z% —8=0.

2. If the quadratic equation 222 + 5z — 1 = 0 has roots « and 3, without finding these
roots evaluate:
(a) a+5,
1 1
(c) 202 +28°.

= kz? — 4mz + 3
N

3. If (4,1) is the vertex of the parabola y ,
(a) show that k=% and m = §.

(b) Hence show that the parabola does not cut the z axis.

4. Find the value(s) of k for which the quadratic equation z? — 2kz + (k + 2) = 0 has

(a) equal roots,
(b) real roots,

(c) roots whose sum is three times their product.

_5. The quadratic equation 2% + Lz + M = 0 has one root which is twice the other.

(a) Prove that 2L? = 9M.
(b)t Prove that the roots are rational whenever L is rational.

x
6. If z is real, prove that oy cannot have a value greater than 1 or less than

L
1
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